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SPECIAL ATTENTION PROGRAM
SIMPLIFICATION WORK SHEET

Type : 1 (Basic)
1. 39852 + 2 =81 x 12
39852 + \? =81 x 12
a. 41 b. 1681 c. 1849 d. 43

Find the value of x in the equation 1 +25/144 =1+ x/ 12
V1+25/144 =1 + x/ 12 6l ST 1960 X 6T &I ST6wT.
a.x=0 b.x=1 c.x=2 d.x=3

Simplify : 5y3 + 183 - 243
FHBG&HH. 53+ 183~ 243
a. 15\/3 b. 213 Cc. 253

Simplify: (%ﬁm]_[g}z
: 900 ++144 | (16
Gi(HHGHP: ( iz ]—(%j+2

b, 2
12

Find the value of \/75+x/33+\/4+\/ﬁ
\/75+\/33+\/4+\E 60T LD IL|EH ST 6mTE:

a.9 b. 10 c.12 d. 13

If V4096 = 64, then the value of V4096 +v40.96 ++/0.004096 is

V4096 =64, aafed V4096 ++40.96 ++/0.004096 Qe &1L
a.70.4 b. 70.464 c.71.04 m d.714
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The cube root of 0.027 is
0.027 ®e1 sevtelpeold
a.0.3 b. 0.03

\/248 + 52 + V144 is
\/248 + 52 + V144 a1 wiuneng

a. 14 b. 16 c. 18 d. 26

If V3 =1.732 and 2 = 1.414, then the value of is

1
N

1 . .
W—@ﬂ DG
a. 0.064 b. 0.308 c. 0.318 d. 2.146

B =1.732 opmib 2 =1.414 aafeo

Evaluate 123 x 999 + 123
HIGs. 123 x 999 + 123
a. 246999 b. 123000 c. 246000 d. 123999

Which of the following numbers is a perfect cube?
SIDHEWIL  6T6mwIH6IN60 (LAY H6v 616001 61517

a. 36 b. 100 c. 512

Type : 2 (Bodmas)

molify: 5243 of 8
12. Slmphfy.52+4 of9

. 1 3 . 8
HF(HBGH: 5—+— 86l —
B26 2 4 2 9
a. 61 b. 6l
4 6

13.  Simplify: —+§—§—3—0—Ex 2!

2 312 9 16
.30 12 -7

14. The value of {%—(
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+ %5—2—2} 6T DG
b 13
6

C.é d.j
3 3

Buy how much is three fifth of 350 greater than 3/ of 210

350 @60 mbaxl e Uk opergkl 210 60 % LM AL
6o16RGTeY DIHSHLD?
a. 90 b. 110 c. 120 d. 210

2-[2-{(2-2) 2+2)]=?
a.-4 b. 4 c.6 d. none of these

Type : 3 (Based on Algebra)

789x789x 789 +211x211x 211
789x789—-789x211+211x211
789x789x789+211x211x 211
789x789—-789x211+211x211

a. 578 b. 1000 c. 1578

17.  Simplify:

F(H&HEGHb:

75983 x 75983 — 45983 x 45983
300000
75983 x75983 — 45983 x 45983
30000
a. 45983 b. 121966 c. 120669 d. 121196

Find the value of

G HIT6NIH:

(@a+b)2+(a-b)2=
(@+b)2+(a-b)2=
a.4 ab b.2 ab c.c2+ 2ab + b2

94 %x8.94%x8.94—3.56x3.56 x3.56 ‘s

The value of 8
8.94x8.94+8.94x3.56+3.56x3.56

8.94x8.94x8.94-3.56x3.56x3.56 .

601 LOGILIL| 6TevT6nl?
8.94x8.94 +8.94x3.56 + 3.56 x 3.56

a. 0.538 b. 5.38 c. 0.0538
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SLOW LEARNERS WORK SHEET
Simplification Answer Key

3,4 |5, 6|78
B |  D|A A | B
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